C:# Pacmmpenue naeanbHbIX KBaJIpaToOB Umst:

Pa3BepHuTE BHIpasKEHHE. OTBeTHI
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ﬂh Pacimupenne naeanbHbIX KBaAPATOB

Nwms: KJI104 K NPaBUJIBLHBIM OTBETAM
Pa3BepHuTE BHIpasKEHHE. OTBeTHI
D (c-a)? L x’-8x+16
RGN . xX+18x+81
R L xXH22xH121
RACE . XR22x+121
5 (x+1) N X+2x+1
6) (x-3) " X’-6x+9
7 (x+3) . X +6x+9
8 (x+12) o X+24x+144
9 (x+5) o, X+10x+25
10 e-1)7 10, x-2x+1
D (x-107 . X-20x+100
1) (x-5° b X-10x425
13) (x+8)’ 5. X +16x+64
9 697 w X-18x+81
RS 5. X +8x+16
19 Gex 10y 6 X+20x+100
17) (x-8) 7. X-16x+64
18) (x+2)? 5. X+4x+4
) 7 o, X14x+49
20) (x-2)? 0 X-4x+4
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